Ballistic E1 FFP Varmint Reticle

Predators beware - this reticle is for you. The “Varmint” reticle provides a very
precise platform for measuring distance and determining target size by
providing MOA tick marks across the horizontal crosshair and across the upper
portion of the vertical crosshair. Trajectory compensation has been calculated
out to 700 yards with wind dots representing a 10 MPH wind adjustment at
every hash mark below the vertical center point.

A series of cascading dots to the left and right of the reticle help compensate
for crosswinds. The dots represent a 10 MPH crosswind (+/- 1.5” at 400 yards)
for most hunting cartridges. For a 5 MPH wind, halve the distance between the
dot and vertical crosshair. For a 20 MPH wind, simply double the distance.
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